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SUBROUTINE G3(GB,GM,N,XX,YY,ZZ,XN,YN,ZN,S,AF)

REAL GB(M,M),G(M,M),XX(M),YY(M),ZZ(M)
REAL AF(M) ,XN(M),YN(M),ZN(M),S(M)

PAI=3.1415927

DO 100'1=1,N

DO-100 J=1,N

IF(1.EQ.J) GO TO 200

R=SQRT((XX(1)-XX(@)**2+(YY(1)-YY () **2+(ZZ(1)-ZZ(3))**2)

RN=((OXX@)-XXD)*XN@)+(YYQ)-YY (1) *YN@)+(ZZ(3)-ZZ(1))*ZN(3))
&IR*(-1)

GB(1,3)=0.5/PAI/R**2*RN*S(J)

G(1,9)=0.5/PAI/R*S(J)

GO TO 100

GB(1,))=1.0

B=AF(J)

G(1,9)=SQRT((LOG(B+SQRT(B**2+1))+B*(LOG((1+SQRT(B**2+1))/B)))
&ISQRT(B*PAI))*SQRT(S(J)/PAI)

CONTINUE

CALL MINVS(GB,M,N,1E-12,ILL)

IF(ILL.NE.O) WRITE(3,1) ILL

FORMAT(1HO, ILL G3,17)

CALL SEKI(GB,G,M,N,N;N)

RETURN
END



